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QUESTION 1

Which are the prerequisites for performing flashback transactions on your database? (Choose all that apply.) 

A. Supplemental log must be enabled. 

B. Supplemental log must be enabled for the primary key 

C. Undo retention guarantee for the database must be configured. 

D. Execute permission on the DBMS_FLASHBACK package must be granted to the user. 

Correct Answer: ABD 

 

QUESTION 2

Which tasks can be accomplished using the DBMS_LOB.SETOPTIONS procedure? 

A. only encryption and compression settings for all SecureFile LOBs 

B. only encryption and deduplication settings for only SecureFile CLOBs 

C. deduplication, encryption, and compression settings for all SecureFile LOBs 

D. deduplication, encryption, and compression settings only for SecureFile CLOBs 

Correct Answer: C 

 

QUESTION 3

View the Exhibit to examine the error obtained during the I/O calibration process. There are no data files on raw
devices. What is the reason for this error? 
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A. The DISK_ASYNCH_IO parameter is set to TRUE. 

B. The FILESYSTEMIOJDPTIONS parameter is set to NONE. 

C. Another session runs the I/O calibration process concurrently. 

D. The pending area has not been created before running the I/O calibration process. 

Correct Answer: B 

 

 

QUESTION 4

Observe the following warning in an RMAN session of your database instance: 

WARNING: new failures were found since last LIST FAILURE command 

Which statement describes the scenario that must have produced this warning? 

A. The CHANGE FAILURE command has detected new failures recorded in the Automatic Diagnostic Repository
(ADR). 

B. The VALIDATE DATABASE command has detected new failures recorded in the Automatic Diagnostic Repository
(ADR). 

C. The ADVISE FAILURE command has detected new failures recorded in the Automatic Diagnostic Repository (ADR)
since the last LIST FAILURE 

D. The RECOVER command has detected new failures recorded in the Automatic Diagnostic Repository (ADR) since
the last LIST FAILURE command was executed. 

Correct Answer: C 

 

QUESTION 5

You executed the following commands in an RMAN session for your database instance that has failures: 

RMAN> LIST FAILURE; 

After some time, you executed the following command in the same session: 

RMAN> ADVISE FAILURE; 

But there are new failures recorded in the Automatic Diagnostic Repository (ADR) after the execution of the last LIST
FAILURE command. Which statement is true for the above ADVISE FAILURE command in this scenario? 

A. It produces a warning for new failures before advising for CRITICAL and HIGH failures. 

B. It ignores new failures and considers the failures listed in the last LIST FAILURE command only. 

C. It produces an error with recommendation to run the LIST FAILURE command before the ADVISE FAILURE
command. 
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D. It produces advice only for new failures and the failures listed in the last LIST FAILURE command are ignored. 

Correct Answer: A 

 

QUESTION 6

Which statement is true for enabling Enterprise Manager Support Workbench in Oracle Database 11g to upload the
physical files generated by Incident Packaging Service (IPS) to MetaLink? 

A. The database must be running in ARCHIVELOG mode. 

B. No special setup is required, and the feature is enabled by default. 

C. The path for the Automatic Diagnostic Repository (ADR) must be configured with the DIAGNOSTIC_DEST
initialization parameter. 

D. The Enterprise Manager Support Workbench can be enabled only if the background process manageability monitor
(MMON) is configured. 

E. Select the Enable option in the Oracle Configuration Manager Registration window during the installation of the
Oracle Database 11 g software, provide valid MetaLink credentials and select license agreement. 

Correct Answer: E 

 

QUESTION 7

You plan to set up the Automatic Workload Repository (AWR) baseline metric thresholds for a moving window baseline.
Which action would you take before performing this task? 

A. Compute the baseline statistics. 

B. Take an immediate AWR snapshot. 

C. Decrease the window size for the baseline. 

D. Decrease the expiration time for the baseline. 

Correct Answer: A 

 

QUESTION 8

Your company wants to upgrade the current production database to the RAC environment. To perform testing before
migrating to the RAC environment, you performed the workload capture on the production database to record the peak 

workload. You set up the test RAC database and want to replay the recorded workload on the test machine. Note the
following steps that you may require to replay the database workload: 

1) Preprocess the captured workload. 

2) Restart the database in RESTRICTED mode. 
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3) Set up the Replay Clients. 

4) Restore the test database to the point when the capture started. 

5) Remap connections. 

Arrange the steps required in the correct sequence to accomplish this task on the test machine. 

A. 2, 1,5,3,4 

B. 1,2,4,5,3 

C. 1,4, 5, 3 (2 is not required.) 

D. 1, 2,4, 5 (3 is not required.) 

E. 1,4, 3, 5 (2 is not required.) 

Correct Answer: C 

 

QUESTION 9

You are managing an Oracle Database 11 g database. You want to take a backup on tape drives of the USERS
tablespace that has a single data file of 900 MB. You have tape drives of 300 MB each. To accomplish the backup, you
issued the following RMAN command: 

RMAN>BACKUP SECTION SIZE 300M TABLESPACE users; 

What configuration should be effected to accomplish faster and optimized backups by using the above command? 

A. The SBT channel must be configured, with the MAXPIECESIZE set to 300 MB. 

B. The SBT channel must be configured, with the parallelism setting for\\' the SBT device set to 3 

C. The COMPATIBLE initialization parameter for the database instance must be set to at least 10.0. 

D. The SBT channel must be configured, with the default parallelism setting for the SBT device set to 1. 

Correct Answer: B 

 

QUESTION 10

While tuning a SQL statement, the SQL Tuning Advisor finds an existing SQL profile for the statement that has stale
statistics available. What would the optimizer do in this situation? 

A. It updates the existing SQL profiles with current statistics. 

B. It makes the statistics information available to GATHER_STATS_JOB. 

C. It initiates the statistics collection process by running GATHER_STATS_JOB. 

D. It logs a warning message in the alert log so that the DBA can perform statistics collection manually. 
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Correct Answer: B 

 

QUESTION 11

View the Exhibit to observe the error. 

You receive this error regularly and have to shut down the database instance to overcome the error. What can the
solution be to reduce the chance of this error in future, when implemented? 

A. locking the SGA in memory 

B. automatic memory management 

C. increasing the value of SGA_MAX_SIZE 

D. setting the PRE_PAGE_SGA parameter to TRUE 

Correct Answer: B 

 

QUESTION 12

Examine the following PL/SQL block: 

DECLARE 

my_plans plsjnteger; 

BEGIN 

My_plans := DBMS_SPM.LOAD_PLANS_FROM_CURSOR_CACHE (sql_Id => ? 9twu5t2dn5xd?; END; 

Which statement is true about the plan being loaded into the SQL plan baseline by the above command? 

A. It is loaded with the FIXED status. 

B. It is loaded with the ACCEPTED status. 

C. It is not loaded with the ENABLED status. 

D. It is not loaded with the ACCEPTED status. 

Correct Answer: B 
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